/. LOMBARDMNELD

A KOHLER. CEfgine: 6LD 260/AB K 367900 Drawing: A

INTAKE AND EXHAUST
POS. |CODE DESCRIPTION Qty
1 4500.092 gasket 2
2 3700.111 air cleaner ass.y std 1
15 5496.113 filtering element diam.124 1
16 3240.018 nut M 8 2
17 7565.007 washer diam. 8 2
22 4775.120 gasket h=10 d=135 1
23 5496.071 filt.element h.90 diam.120 1
24 1261.072 seal ring h=17,6 d=54 1
33 4115.048 hook 2
45 4500.091 gasket 1
46 B8902.317 flange 1
52 5460.226 eXhaust muffler 1
58 4500.091 gasket 1
59 B240.163 nut M 8 2
60 B902.040 flange 1
61 4500.091 gasket 1
62 9732.074 screw M 8 X 20 2
63 3240.163 nut M 8 2
64 B8902.316 flange 1

printed by LOMBARDINI: 28/03/2018 -

1




Engine: 6LD 260/AB K 367900 Drawing: A

6LD .../B1
6LD../AB__

J0004007,
7444 IIM/

74
(U

printed by LOMBARDINI: 28/03/2018



